6 Short spare parts list (1.667-267.3) KKRCHER

Professional \ Industrial cleaning systems \ Vacuum cleaner \ Others IV \ NT 80/1 B1 M S *EU \ Short spare parts list

Page1/2



6 Short spare parts list (1.667-267.3)

Professional \ Industrial cleaning systems \ Vacuum cleaner \ Others IV \ NT 80/1 B1 M S *EU \ Short spare parts list

KARCHER

POS

© 00 N O U1 A W N

W W N NNNNDNDNDNDINNIRRRRERBRBERH R R R
H O W 0O N O U A WNRFPF O O O®WNOOUMWNHE O

Article no.
5.064-186.0
6.414-808.0
6.321-013.0
5.363-164.0
7.311-423.0
7.312-285.0
7.312-160.0
7.306-063.0
5.064-392.0
6.435-312.0
6.435-287.0
4.130-399.0
4.036-032.0
4.025-372.0
4.440-001.0
5.363-159.0
4.036-038.0
5.122-084.0
7.311-037.0
7.305-091.0
4.002-056.0
5.122-451.0
5.363-234.0
7.304-546.0
7.312-283.0
5.408-054.0
6.322-007.0
4.440-003.0
5.408-054.0
6.904-325.0
6.322-010.0

Description

Cover filter

Cartridge filter only for replacement
Handhold

Joint ring

Hexagon nut M10 -04-A2E ISO 10511
Washer 10 -200HV-A2E 1SO7093-1
Toothed lock washer A10,5 -FSt-A3E DIN
Cylinder head screw M10x30-8.8-A3E ISO4
Wheel cap grey

Wheel D250

Castor M.F.

Floor tool completely DN40

Elbow DN40

Suction tube DN40-1M

Suction hose complete B1 M S

Joint ring

Tube elbow complete

Flange

Hexagon nut M 5-CU2 ISO 4032
Countersunk screw M5x25 -A2-70 (In6Rd)
Screen plate

Flange

Joint ring

Hexagonal head screw M 8x12-A2-70 I1SO 4
Washer 8-CuzZn ISO 7093-1

Tube elbow

Hand wheel 56 D

Suction hose DN40

Tube elbow

Cartridge filter

Hand wheel

Page2/2

Quantity
1.000
1.000
2.000
1.000
2.000
2.000
2.000
2.000
2.000
2.000
2.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
3.000
3.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000
1.000

Unit
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST


http://www.tcpdf.org

